Employability Skill / TSI Sierer

ITI 15t Year, Common For All Trade
Module: Occupational safety (English/ #ITSY)

1. ABC of first aid stands for
JUYAIIRTET ABC FgUTat
A. Airway, Bleeding and Circulation anpm‘r
TFHTd 30T 3fEor

B Airway, Breathing and Circulation arg#Te, ard
3nfor 3rfaaxor

C Airway, Bleeding and Compression arg#T,
IFALAT 30T el

D Airway, Breathing and Compression arg#TT,
earg 3nfor g&aq

2 At what decibels, sound becomes hazardous
noise pollution?

fohcll ST, Eaell BT Eaell YeuUT delci?

A Above 30 3o TIT I

B Above 80 80 =Ir a¥

C Above 100 100 =ar a¥

D Above 120 120 =ar a@X

3 Earthquake is measured with an instrument
called
3T
ST
A. telegraph cferm®s

B seismograph T&TAITE
C oscillograph 3iif@aams

D bar graph dR 3@

ATAAT 3YHIOTS ATl

4 Head protection is done through
Sleh EI&TOT gan el S
A helmet geHT

B goggles 3iaTel

C gloves gddst

D mask ATER

Solutions and Explanation on
YouTube Channel

5 In firefighting method ‘Starvation’ is
AT Tl 'IUTHAR kiir
A limitation of oxygen 3fifFasteT=i HATer
B pouring water 9roft 3frqor

C elimination of fuel ST IgeT ETehoT

D reduction of temperature dAMYATATT U<

6 On the job injuries and illness, cost money
time & effort. What is the most practical way to
manage these losses?

SATehITAT gl 3707 TSRO, 447 de 3nfor
Ageld Td. § AHAT HGEATIT FHOATAT Fard
SATARIReR AT HIUTAT 3E?

A. Make sure safety is part of labor contracts
GRIETIAT &7 PHIR FIRTET HET I eI GET HT
B Aggressive claims handling 3shde grad
RGN

C Good insurance coverage didTel fa#T TRETOT
D Effective safety and loss control program

mgmmwmm

7 Ozone layer is made up of

3N @ o Slolel 3Tg
A one oxygen atom Ueh 3fiferersfel 370]

B two oxygen atoms @ls 3fifarastsr 3107
C three oxygen atoms dieT 3iffaresteT 3197
D four oxygen atoms TR 3fferastel 3107

Ans Key 1-B, 2-B, 3-B, 4-A, 5-C, 6-D, 7-C,

Open Mind Guruji
For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g
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8 The reprocessing of discarded materials into
new useful products is called

Tt feeledT AT Adle 3UFFd ScueATHEd
qASThAT 0T FreT FEOTAT.

A. reuse of waste material T3 TETTET e
B recycling of material &fgeamar geaToR

C management of solid waste UdshdT cIIEATIA

D reduction in use of raw material sT<ar

HTITIAT diYd 9gc

9 The study of living things in relation to their
environment is called ...

Tolld TEaT carear gAiaeomel Heftid 3rs=amrarer
......... FgUTdld.

A. ecosystem TREET

B economics 372RME

C ecology UIATaRUTRMTEST

D. eclogue

10 The three R’s to save environment are

A. Reserve, Reduce, Recycle 3Rf&Id a1, St
T, TRl T

B Reuse, Reserve, Reduce JadTw, I@ld, &alt
AT

C Reserve, Reuse, Reduce T@d, Gadiwy, &l
AT

D Reduce, Recycle, Reuse & a1, adToR &I,
YA T

Solutions and Explanation on
YouTube Channel

11 Vibration and radiation comes under
F9eT TOT 3T 3dad Adrd
A. chemical hazards TEAfAS €k

B physical hazards SRR ik

C electrical hazards faegd @it

D psychological hazards #AIA® i

12 Which one is a man induced hazards?
IOTAT AT IRT e 38?2
A. Landslide 3{r@clel

B. Cyclone Tshidices
C Volcano SaTelTadr
D Earth quake &9

13 Which one is a non-renewable energy
resource?

A Solar @

B Coal sear

C Methane f@da

D Hydroelectric STerfaegd

14 which one is an unsafe condition for work?
FTATETS IR e HoTe 32

A. Oily floor delehe HSTelT

B. Good light TRTeT SehTar

C Proper tools Jag ey

D Adequate ventilation qReft argdistet

Ans Key 8-B, 9-C, 10-D, 11-B, 12-A, 13-B, 14-A,

Open Mind Guruji
For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g
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15 which one is an unsafe condition for work? Ans Key 15-A, 16-D, 17-C, 18-C

A. Good light TTaTeT Yehrer

B Proper tools Ja AT

C Adequate ventilation YT argdIst=t
D

16 Which one is the main greenhouse gas
responsible for global warming?

e IAITATS AT gRAE T HIOTAT 3178 ?
A Hydrogen grasisiel

B Oxygen 3ifFasiel

C Nitrogen =TTgcretel

D Carbon dioxide &IesT SRITFATSS

17 Which one of the following is NOT an
ergonomic hazard?

GTeilertdehl HIUTAT TIfATTHS LT TRT?

A Awkward position fafeT

B Poor housekeeping I{i& &1

C Emotional disturbances #iafae a8

D Wrong layout of machinery IS aTaHafrdT it
Aol

18 Which one of the following is not part of 3
R’s?

GrellerdehT SHIOTAT 3 R T HTeT ATEI?

A Reduce 3@

B Recycle Rargeer

C Regenerate R&eRe

D Reuse Ry

Solutions and Explanation on Open Mind Guruji
YouTube Channel For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g

